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PART T (Linear Aléa,wa)

/. ten A=|2 | o4
[/ ° ¢ =3
3 /1 -7 2
2 o0 & -6 |

@ Cind o0 invertible  analiix P such ok pA N o fewr- poducedd
rehedon wam R. (/0%) .

(b) Cind o oo o the pov ppoack W ok A, (42)

(€) Lt 'V te Hhe vedar ppace of oM Exi colomn matiiue X puich Hhot
AX=0. Fid & foak f0 V', (£2) -

2. W LE X ond A, e diattined &‘%n\m}m of o ek A, W copsociadid

uj,znu-eot;u Xy omd Xa /\Mjolcmxy_ Sthons tﬁaﬂ"x, emd Xz ok
,Q/wusz? szzno(enf . (8%)

() Lot A se on nxn madiix puch that A-I a2 nfppolint (mwhee 1

e the ddendily oveliig ), prove Mok ot A=1 (22)

3. LA T wd S e Minenn gposdern from V £V anfiex Vk e

'Ua(i}q, /.1106\0& U& dammenacon N2 Amh/ﬁ? TSs = ,S'T, ‘T":o’ T#o0,

e et 5 faa o Trinind dmgniondt ulopecs. (122)
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Part T (Probalilihy) (Z-RZ 10 9\)
L Bl T R — MR Flx) = ©

A -1 1 L3
7 Tan X+ T XzoO,

K] F RS HE 3402 Fap sodedt (c.df) ? Br

2 ByEm B X BT R oNFL N(W, o), BX 2E -
' | Vk>o, PHX—sza}<—éy,
(7.?-:%:"23(<;/T\/i <).

3. U EM EL X Laplace AT, BpEind BB 2t cha )

fomy=ce™ | B L2 &
AR X A |

+ SOEMF (xv) B R SR st

KB Y A FHATE] (unconsahated) = X YD j£2 "
ATHEr RAE 2Fare, ERE P — R 232 m 2o 2

5. KB ER gy (Xt 0F 1B F B i%ax ( Xn converges im

»Frw&a}zﬂ&n} ko X)), TEBH: X B3% g ofh— (a0, uncgue). A e7EESR -
FoXnToX A X By £ X =V an
(R F IX-Y1€ =X+ [ Xn=V].)




Yy e ¥ : )’ o T Y s 24 ¢ '3"\'7);‘
LB BRI K G A N B it R A 28K A Y 3 x
| PART IL CEAE & 1) | -

P e

L. let 7(-' [-1,3] ‘f*//? be such that F£(-1) = [, fo)= 3 F(2)= /
and F(3)=27 se o

) Zajra.njé form to Fond the jzta dratic z‘ni‘@r/a/a%:‘/y
pelynomial Px)  pny

(1o7;)
i) flewton formm to find the cubic /infer/oo/d/hj
polynomial &x). (e 70)
2. Zef f(x):cafclﬂ’-f(; 7(2"'637(}. 5/01() Hiak
i) the corrected trapejoidal yule can be wyitten as
A by =A o 7

[, foadx = A[FCE )] ({j %)
(1) the Sempson's yule gives the exnct yafue of / %If(flf/)(v
(5%

3 Given +he ditferentiad e%aa'/ion y’: 2x+Y ,a/{i% y(»”)://
use the following methods Lo [L/a/am:dmoz‘a Y(0.1) =7
(i) Eulers melhod with #=oof (s %)
(ir) /?wn;.e#(wf/ﬁo( pneltesd o{ 4t onder will n= /e k)
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